SN H|EC

HE: MANLUNA R LN (LB /A T)
Sl FAALLBURK (25l &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F oK Ofl At ot Hws2
Met)| = 327,590 0 327,590
R LYNADHLN (LB BT /L) 102,820 0 102,820
HMeA S 2 U R 11,150 0 1,150
B YN=p/ET 11,150 0 1,150
201 YEr2gy| 3,600 0 3,600
01 AtR2t2IH] 3,600 0 3,600
OFMRBHA 7 50,0008 * 15 » 128 600
OHIXIO BN S0 15,0008 * 100 1,500
OF2tAtY 222 & 22 10,0008 + 1505 1,500
202 04t 2,100 0 2,100
01 201 bl 2,100 0 2,100
OFBAYER U STBY A +T 0Tl
70,0002 * 2% * 53] 700
ONHZMATITE &4 01|
70,0002 * 2% * 53] 700
OB AlZ S4AIR HXI0H Z& 04|
70,0002 * 2% « 53] 700
203 YR E=TY| 3,000 0 3,000
03 AI&4=ZI @ =X | 3,000 0 3,000
OFHLALET 3,000,0008 * 141 3,000
301 YBHEA S 1,600 0 1,600
12 JIEtR &2 1,600 0 1,600
Og=gd M2 oot 22 L4 1,600
—ha 500,008 * 19 500
324 300,008 * 19 300
—ey 200,008 * 19 200
N -E 10,0008 * 1% 100
— UM 50,0001 * 10% 500
405 Xt &HE St 850 850
0 Kt USE 850 850
ocIxEgst o 350,008 * 1CH 350
SESIER: 500,008 * 1CH 500
B2 1,400 1,400
M2 AT 2 1,400 1,400
202 04t 1,400 1,400
01 2UH0i 8| 1,400 1,400
OZY(Z) 2NN 25
70,0002 * 1% * 22 103 1,400
SANRLRY 90,270 90,270




SN H|EC

HE: M2 UNGRELH (LUBTHT/ANHT)

Sl NBARLSY (el &
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 %gi HRs2
HEMRLSY 90,270 0 90,270

201 get2Ad| 73,900 0 73,900
01 At &2l 72,460 0 72,460
Osotge =X |
7,000& = 2% * 154] « 128 2,520
Oxnl2 =4t 2,140
—ZRIEDI(SH) EY
200,0002 * 381 * 1k 600
—ZEgoI(Zet) Ed
200,000& = 3=l = 1CH 600
—ZRIEDl 42 100,000 * 2CH * 50/100 100
—PC =2l 100,000& * 2CH = 20/100 40
—WAJ(A™) 2l 100,0008 * 23 » 1CH 200
—JIEt==cldl 50,000& * 12& 600
ONSA AXSEI(THNEE)
2,000,000& = 12J0& 24,000
ORN@E=A 24X EE2(HEE) 34,400
—23= 10,000,000& * 244 20,000
—e4x= 600,000& * 2944 = 1200 14,400
OAFR& SXI2Ibl 300,008 * 1 * 122 3,600
Oma%L S/
200,000& * 294 * 123 4,800
O&l,8+4%F 7 1,000,000& * 1CH 1,000
02 2244 1,440 0 1,440
OQHYAESZ 35,000& * 23|& * 123 840
Odste= 50,000& * 13l 123 600
202 ¢4l 6,720 0 6,720
01 =2 A b 6,720 0 6,720
OB2I0IHI (M AR L)
70,0003 » 2% » 42 » 128 6,720
203 2R EZ Y| 4,000 0 4,000
03 A=A AR =] 4,000 0 4,000
ONMSAMNELHRFA 4,000,000& = 14l 4,000
405 AHotE S HI 5,650 0 5,650
01 MM USEF S| 5,650 0 5,650
OANSEHA & ATHME) 7Y
350,000& * 2MIE 700
O3l9g St & SAXHHE) P
800,000& * 1NIE 800
O 2¢ 150,000 = 20K 300
OWA M3, TV #¢ 1,000,000 * 14 1,000
OSAAEIl 2 700,000 * 1CH 700
OdzaEn 2¢ 500,000& * 1CH 500
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HE: MANLUNARHLH (YYD DHT /LB T)
Sl NBARLSY (el &
_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 0 Ak o4 il b o HRE2
OUHOACIAL T (AHCEE)
1,300,008 * 1CH 1,300
OUXIEotet =< 350,000 * 1CH 350
HMEIHYBI D DT /UBHEE) 144,630 0 144,630
Ot 20,250 0 20,250
TRYUSF AHED 20,250 20,250
201 fEt2Ad| 13,250 13,250
01 AtR2tel 13,250 13,250
OFQee XM 20N R
2,000,000& * 13l 2,000
OFQYe XTI XE RO
800,000& = 12l 800
OFQURXUEIIAAS &aL
70,0008 » 7% * 53 2,450
020124 G ZQALAHHE S0l
20,0002 + 400 8,000
303 &3 7,000 0 7,000
01 Z&3 7,000 0 7,000
OXHMBOL 42 Al 7,000
— x| fa 2,000,000& » 1JHE A 2,000
— R4 1,500,000& * 242 A 3,000
o -CL 1,000,008 * 2HS A 2,000
HY M3 56,200 0 56,200
HolAZSHH A2 53,400 0 53,400
201 get=24Ed| 53,400 0 53,400
01 AtR2tel 53,400 0 53,400
OHTEAZ 29 700,000% * 128l 8,400
OZSAFOINSHY AADS
300,000& = 30& =+ 53] 45,000
HOAAEHEZRI =4 2,800 0 2,800
203 H =&l 1,000 0 1,000
03 Al FA AR 1,000 0 1,000
oot = 1,000,0008 * 14 1,000
303 &3 1,800 0 1,800
01 Z&3 1,800 0 1,800
OBMBHT OIL2IX 242H A4 1,800
— x| ea 1,000,000& » 1JHE A 1,000
— R4 500,000& * 1OH2A 500
L 300,0002 * 145 A 300
NELHAHRS 68, 180 0 68,180
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SN HE)|EC
By YMBOHUNDDHT/LPHET)

Sel: XYYAYHRS (&te: @
- _ _ P NE e
2N -3 - c2(3H) - NEME - HES 0] Ao oﬁf@ Hl =2
Xl ers e 68,180 0 68,180
201 L2 A 8,280 0 8,280
01 At2 224 8,280 0 8,280
OXALNAR FgMT KO
500,000 * 23] 1,000
OXAUNB oI5 QS| BAACt
70,0008 * 20H * 43| 5,600
OSSN AYNEs FA4+Y
70,0008 * 6 * 43 1,680
301 Yt A2 4,900 0 4,900
10 HALAHI B A2 4,900 0 4,900
OXdudEols HOILL, ns, 283 S
70,0002 * 102 * 73 4,900
307 @I2+0| ™ 55,000 0 55,000
02 BI2tBAE X 55,000 0 55,000
OYFAINAUME OIS MOILF WA K
10,000,0002 * 23| 20,000
OZES=ERXNAYUMEOS 29 263
20,000,000 * 13| 20,000
A=Al XNGYMBOIF 2HX
5,000,000 * 13 5,000
OCUBHRIE XX &3 t2Y=2 MOILE HEl X
10,000,000 * 14l 10,000
HESAZH| (M2D|&ICH)(IIEHDIE 80, 140 0 80, 140
Jl=AH| 80, 140 0 80, 140
Jl=AH| 80, 140 0 80, 140
201 L2 AH 18,040 0 18,040
01 At2 22l 18,040 0 18,040
O=2AMEX FYUHl 13,0002 » 158tA » 12€ 2,340
OS24l 5,000 * 64! x 15% » 12& 5,400
Ot 100,000 * 122 1,200
OARD T AR 50,0002 » 12& 600
OARS 24H| 7,600
—2AI(AE) 2 500,000 = 1CH 500
—TRIED| 221 100,000& * 4CH * 50/100 200
—2A] EY 200,00024 * 53]  1CH 1,000
-T2l (5%) EY
200,000 * 53] * ACH 4,000
—T2IHD| (e EUY
200,0008 * 53| = 1CH 1,000
—PC 2=2J 100,000 = 15CH * 20/100 300
—JIEt=2lH] 50,0002 * 12& 600
OJIEt ME2EH| 5,0008 * 15% » 12& 900
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